
Af ter the receiver block and/or folding mechanism are 
installed on weapon, place AKFX stock into place.

Slide a #10 split washer onto each of the 10-32×3/4" 
socket head screw.

Thread a 10-32×3/4" socket head screw through each 
of the holes in the gusset (front) of the stock . Tighten 
screws into receiver block or folding mechanism.

Install quick detach sling swivel into any of the quick 
detach mounting holes.

5_

3_

2_

1_

INSTRUCTIONS

MAKE SURE YOUR FIREARM IS UNLOADED 
AND POINTED IN A SAFE DIRECTION WHEN 
INSTALLING THIS STOCK

ACE LIMITED IS A DIVISION OF DOUBLESTAR CORP.  |   DOUBLESTARUSA.COM  |  888.736.7725  |   MADE IN THE USA

Gusset

Recoil Pad

QD Sling Swivel

Place recoil pad into position (thickest end toward 
the top). Place provided 10-32×3/8" but ton head screw 
through the top hole of the recoil pad and begin to 
tighten. DO NOT TIGHTEN ALL THE WAY. Place second 
10-32×3/8" but ton head screw through the bot tom hole 
of the recoil pad and tighten into the but tplate. Finish 
tightening the top screw. DO NOT OVER TIGHTEN OR 
DAMAGE TO THE RECOIL PAD WILL OCCUR.

4_


